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(c) 

  

w(θ ) = g(θ )− f (θ )
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∫ ≈ .4854461355 or .485    

Note: Store .4854461355 as a and use it in part (d).
                                                      

 

(d) 

   

We must solve for θ  in 0,
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:  w(θ ) = wA

g(θ )− f (θ ) = a           Note:  a is from part (c).

g(θ )− f (θ )− a = 0     Note:  Solve by graphing in the function mode and find the zero in 0,
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.

θ = .51768795  or  .518  or  .517    Note:  Store .51768795 as b and use it in the next part of the problem.
w '(b) = −.5818591      Note:  Find derivative either in function mode or polar mode.
w(θ ) is decreasing at θ = b since w '(b) < 0.

  

  
 


